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ECONOMICS — GENERAL
Paper : GE/CC-2

(Introductory Macroeconomics)
Full Marks : 65

Candidates are required to give their answers in their own words
as far as practicable.
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[ English Version ]

The figures in the margin indicate full marks.

Group - A
1. Answer any tfen questions :
(a) Distinguish between NDP at market price and NDP at factor cost.
(b) How do you derive personal income from national income?
(¢) What is meant by classical dichotomy?
(d) State Fisher’s equation of exchange.

(¢) Distinguish between Narrow money and Broad money.
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(f) Explain the concept of money multiplier.
(g) State fundamental psychological law of Keynes.

(h) Given consumption tunction C = 40 + 0.8 Yd, autonomous investment (I) = 60, Tax = Government
expenditure (G) = 10, determine the equilibrium national income.

(1) What 1s selective credit control?

(i) Define liquidity trap.

(k) Distinguish between current account and capital account.

() What is meant by liberalization?
(m) Mention two criticism of Ricardian Comparative Advantage Theory.
(n) What is Marshall-Lerner condition?

(0) Mention two contractionary fiscal policy instruments.

Group - B
Write notes on any three. 5%3
Balanced budget multiplier
Protection in International Trade
Loanable Funds Theory
Value added method of estimating National Income

Social cost of Inflation.

Group - C

Answer any three questions.

(a) Explain diagrammatically the determination of income and employment in classical model.

(b) What will happen if money supply changes? 6+4

(a) Explain the idea of Phillips Curve.

(b) What is its implication in the context of inflation?

(c) What is Sacrifice Ratio? 2+6+2
Give arguments for and against international trade. 5+5

(a) Discuss the process of determining the equilibrium level of National Income based on Saving
Investment equality in an economy.

(b) Explain the concept of Paradox of Thrift. ¥+3

‘Balance of Payment always balances.” — Explain the sentence. 10




